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All questions are compulsory.

The question paper consists of 30 questions divided into four Sections °A’, *B', *C’and ‘D),
Section *A comprises of ten questions of 1 mark each, Section “B’ comprises of five questions
of 2 marks cach, Section *C’ comprises of ten questions of 3 marks cach and Section ‘[’
comprises of five questions of & marks each.

All questions in Section *A’ are fo be answered in one word or sentence or as per the exact
requirement of the question,

There is no overall choice. However, internal choice has been provided in one question of 2
marks, three questions of 3 marks each and two questions of 6 marks each. You have 1o
attempt only one of the alternatives in all such questions.

I questions on construction, drawing should be neat and exactly as per the given measurement.
Use of caleulater is not permitted.

Start from the first question and proceed to the last. Do not waste your time aver a question
which yvou cannot salve, -
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(SECTION —*A")

Qi 7429 T SIS TUETS] & T & W el g | 1
Express the number 7429 as a product of its prime factors.

5 - . 1
qm%m—crzrguﬁanuafrﬁﬁq,ﬁmmawﬁa%ﬁmﬂﬂnﬂmmmr: ,fzzr;ﬁl 1
Find a quadratic polynomial with the given number 2 and ; as the sum and product of its zeroes

)
respectively.
Hig Siae fF e T x+ 3y =6 AR 2x -3y =12 HIT B | ]
Check whether the pair of equations x+ 3y =6 and 2x -3y =12 15 consistent,
T AR W geE ) e i Tl cni!=—laiﬁid=% !
Write the first two terms of A, P.if a=—1 and d= %
4
afy tanA == T sinA T cos A T A FH Hifa | 1
A
If anA = % then find the value of sin A and cos A,
Feaer werrt il fe @G- bkl = |
Fill in the blanks—
(@) T T P ... AT T T ST HEA E
A circle can have ............ parallel tangents at the most.
(@) T e S e v & et g W . T B

The common point of a fengent to a circle and the circle is called i
o1 T B ) IS 4 0 9 @ e A E ) gA Bepel @ s T T arre BT P |
Sides of two similar triangles are in the ratie 4 : 9. What will be the ratio of areas of these triangles 7
T T T AT weEy e qend 5 99 8 9 T 12 HE 1
Find the volume of the cuboid whose sides are 5 cm, 8 cm and 12 cm.
R, WIS T dEeE @ are T il | 1
Write the relation between mean, median and mode,
afy p(E)=0.05 & o E FE F milwma 5 S10Eg | 1
If P{E) = 0.05, what is the probability of ‘not E 7

wrg — q
(SECTION - ‘B")

o= U T ffam geTed lﬂ*ﬁm 1 T M | firras el & I 290 Rl i

Find two consecutive add positive integers, sum of whose squares s 290

231 {HXI) [ 2]



[
b

13

14

s n::nuL'Eil=E At wr e ) 2
& (1+sin@) (1= sin )

{1+cos0)(1—cosB)

If cot = % , then cvaluate :
et (OR)

firg wE © [l=cosA

Provethat:  Y1<+cosA

X Y qE favg o F W (2, -5) 3 (-2, 9) ¥ HAge E 2
Find the point on the X-axis which is equidistant from {2, -5} and (=2, 9).

6 St T @ U oo Wiy | e R 10 9 aE Ram v fisg W g o Rl Y g @l wE
T affr Tt EEEgl A | 4
Diraw a circle of redius 6 cm. From a point 10 cm away from its centre, construct the pair of tangent
to the circle and measure their lengths.

50 e o el W o ) T U TS A 4 g o e e & | Freiai woa we

= ppsec A =cot A

= wifiraa s ST — 14] =2
() T ¥ 1 AEIE (W) TF BE FE AT T g 9w
One card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting —
(&) a king of red colour (b) a face card
TrE —

(SECTION - *C7)
HCF (306, 6571 =9 T&ar & | LOM (306, 657) 3 i | 3
Given that HCF (306, 657) = 9. Find LCM (306, 637).
T (OR)

g @ife f5 34245 T i e

Prove that 3 + 25 is irrational.

2t~ 3 - 1 4 bx -2 S T TG S @y, Tt e gEe 8 TrEe 2 el - 2 e
| 3

Find all the zeroes of 2x* —3x" —3x% +6x -2, if you know that two of its zeroes are N2 and - 5
Tfer fdt warmr of (AR = e 7 UE] @ AR 49 ¥ 3N w17 uel 97 g9 289§, 9 g
3

e ARl B | | o L
If the sum of first 7 terms of an AP, is 49 and that of 17 terms is 289, find the sum of first n terms.

231 (HXT) [3] [PT.O.



19, uﬁ*'ﬁnﬁﬁﬂ%aﬁﬂﬁlaﬁ%ﬁmmﬁmaﬂﬁ,ehﬁﬁlﬁwmﬂﬁmﬁ:wﬁlﬁm

23

24.

Efﬁtrﬁlqﬁﬁ%lmwﬁwﬁyﬂmﬁﬁ'mﬂﬁﬁﬁﬁ?ﬂﬁaﬁm| 3

If we add 1 to the numerator and subiract | form the denominator, a fraction reduces to 1. It becomes

1 : ’ : . s
— if we only add 1 to the denominator. Form the pair of linear equations and find the fraction b

solving them.
R T - __tﬁ.n[-]_ + ---—Emﬂ = 1+sect cosec ) (o=t 8 m“ﬁ v §) ;
Prove that © 1 —cot® 1-tan® {where 8 is acute angle)

arerdr (OR)
g 2k (ws:ch—ﬁinhj{scch—msﬁ} = -—I-— {ﬁﬁ AE?E[ Edb il
Prove that tan A +cot A {where A is acute angle)
et A(7.6), B(3,5) C(7.-4 % T T e ABC T SEmE SR S | 3

Find the area of a triangle ABC formed by the point A (7, 6y, B33, C(T.—-4).

Frait (5,-6) 3 (—1,—4) T e ww SEETE Ty o s | Rl e § Y g
Thrate famg @ Framie o smr #Ro | 3
Find the ratio in which the y-axis divides the line se gment joining the points (5, —6) and (-1, - 4).
Also find the point of intersection.

ﬁwﬁm&ﬁraﬂwﬁﬁq.ﬁmﬁﬂaﬁ{mﬁmﬁﬁaﬂﬂﬁﬁms%‘rﬁrmﬁa*r‘éﬂﬁﬁ
wm%ﬂﬁﬁmaﬁﬁm,ﬁﬂﬂ%ﬂmﬁ%ﬁaﬁgmﬁ#ﬁgﬂmﬁﬁ%ﬁﬁl 3

Diraw a right angle triangle whose sides (other than Hypotenuse) are of lengths 4 cm and 3 em. Then

5
construct another triangle whose sides are 7 times the corresponding sides of the given triangle.

af T e U PR ABC #19[@ai AB #R AC % D ol E W
gitredg T ol A BC & e w0 (R, o fag e fE

AD  AE 3
W AL
If a line intersects sides AB and AC of a triangle ABC at D and E respectively
d is parallel to BC (according to fi -mtE-ﬂi—
and iz parallel to according to figure), prove tha AB AC

231 (HXI) [ 4]
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In given figure, AB and CD are reapectively arcs of two concentric eireles of
radii 21 em and 7 em and centre O. If ZAOB = 30°, find the area of the

shaded region.

HET {OR)

51 7 s # AR SR CD @ O 919 §F 99 & 3 WER wE e
g 0D v ga W A 5| afe oA =7 99 & o v wor
EEEA T S |

In given higure AB and CD are two diameters of a cirele (with center O)

perpendicular to each other and OD is the diameter of the smaller circle. If
0A =7 cm, find the area of the shaded region.

Hrg — '§
(SECTION-'D")

51 wifaerll @ S w1 HYATT 9 1 7 8 Sl T wmE! @ A 4 3 8| aft aee e ufe v
2000 B 79 w0 2, 7 I MEE wrm gre e &
The ratio of incomes of two persons 13 9 : 7 and the ratio of their expenditures is 4 : 3, If each of them
manages {0 save Rs 2000 per month, find their monthly incomes,

FerEr (OR)
T Ay A, fomret R o i w18 Rl ae E 24 el g @ aftes w6 ol o
UM F AEE W o AT | e At w4 &) g 2 =e o il

A moter boat whose speed 15 18 knv'h in still warter takes 1 hour more to go 24 km upstream than to

vetuen downstream to the same spot. Find the speed of the stream.

5ﬂ$'f H 200 ArEw uﬁvalé v e LU= ) ﬁF’g '{l'-'| HqTES T =14 T 30° fr o = o ﬁﬁﬁm
F IR e B T s | | = 1 s = | R el 6
The angle of elevation of a cleud from point 200 meter above a lake is 30° and the angle of depression

of its reflection in the lake is 60°. Find the height of the cloud.,

231 (HXT) [ 5] [ET.0,
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s ABCD @ atey fvim O @ firg & (3 e =) |

S AR fF OB+ 0D = 0A7 +OC° ¥l
() is any point inside a rectangle ABCD (see the higure).

Prove that OB + OD° = 0A® + OC,
T (OR)

ﬁlﬁﬂﬁmf&;ﬁﬁrﬁﬂaﬁﬂrﬁﬂmﬁmﬂiwwaﬁﬁm 2 gl W T & A & e
e 2|

SR F WA = e e g s

10 Frex T uE Sl 'ﬁrﬁuurﬂramﬁn?ﬁﬁﬁsﬁﬁﬁa%ﬁfwﬁmﬁwmzﬁﬂm
f@ﬁ%|ﬂﬁﬁ5w%ﬁﬁ,ﬁ$ﬁﬁﬁﬁaﬁ{&ﬁﬁ?ﬁﬂql

Prove that in a right triangle, the square of the hypotenuse i5 equal to the sum of the squares ol the
other two sides.

Using the above, solve the following -

A ladder 10 meter long reaches a window & meter ahove the ground. Find the distance of the foot of
the ladder from base of the wall.

12 99 S et s e 18 Wi 9 (% aETeR aeE v O W g B g A # W
waﬁﬁﬁmmﬁn%ﬁqﬁﬁaﬁﬁmlméﬁvﬁﬁﬁﬁ%mﬁwﬂqﬁrﬁémﬁ

o4 0 o T o8 9 P aft Refw Sed S S f

A gylindrical bucket, 31 cm high and with radius of hase 1% em, is filled with sand. This bucket 15
emptied on the ground and a conical heap of sand is formed. If the height of the conical heap is 24 em,
find the radius and slant height of the heap.

Frmfafien ofis = TEEE 525 5| A3 AT T T 100 & 8 x @R y T A o6 el 6
The median of the following data is 525, Find the value of X and ¥, if the total frequency is 100.

T SR 0-100 | 100-200 | 200-300 A00-400  400-500 | 500-600 [ GO0-T00 TO0-8H)
Clnss fnteryal

200-900] S00-1 0008

T 2 i’ x | IT 20 ¥ ]
Freguency

FET TS

231 (HXI) [ 6]
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(vi) Tormerey W WENT @ argAly T B

(vii) wer T W W PR AT o @ T wigy, W 0E T SN B 99 U wWa e A
g

Note: (i) All guestions are compulsory.

(i) The question paper consists of 30 questions divided into four Sections *A°, *B’, *C’ and "D,
Seclion “A’ comprises of ten questions of 1 mark each, Section ‘B’ comprises of five questions
of 2 marks each, Section *C" comprises of ten questions of 3 marks each and Section I’
comprises of five questions of & marks cach.

(iii) All questions in Section *A’ are to be answered in one word or sentence or as per the exact
requirement of the question.

{iv) Thereis no overall choice. However, internal ehaice has been provided in one question of 2
marks, three questions of 3 marks each and two questions of 6 marks each. You have to
attemnpt only one of the alternatives in all such guestions,

(v} Ingquestions on construction, drawing should be neat and exactly as per the given messurement.
(vi} Use of calculator is not permitted.

{vii} Start from the first question and proceed to the last. Do not waste your time over a question
which you cannot solve.

(1] [ P.T.O.
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gfiiyey @i

'.‘{

5 o xP=d g
Express the rational expression z in its lowest form.

x4+
fag o umE # fEoA gow € 7 \‘\/

How many zerees are there in the given graph 7 ‘

TR 3’ —x-2=0 T T T W |

Find out the roots of equation 3x° -x-2=0.

T A9 (AP 2L 18,15, e, TR AU AT B 7 1
Which term of the A.P. 21, 18, 15, ..........i5 2er0 7
s5in @ (cosec © —sin 8) T T HfoT | I
Simplify : sin® {cosec 8 — sin &)
fam =l @1 gfd Wi atHia = |
Fill in the blanks—
(F) TF TT B e T W Y g e |
A circle can have ............. paralle] tangents at the most,
() TN T SES W O § s e, R

The common point of a tangent to a cirele and thf: ':_r':]'i.- 15 called ...
v Frgor ot qomd 4 999, 3 59 9 6 9 £ Wwwﬁ?ﬂ_ml“ﬂ_hmﬁﬁﬁﬁr X T T
o W0t § | x W W A 1
The three sides of a wiangle are 4 cm, 5 cm and 6 cm. Another triangle with corresponding sides 6 cm,
% cm and 9 cm is similar to the first triangle. What is the value of x 7

ve gEEr 120 i w40 T s o 30 9 der | e et B o e oo
e 7 i
The length, breadth and height of a box are 120 em, 40 cm and 30 cm respectively. Find out the
maximum length of a rod that can be put in the box,

T ANERdl ded @ (ol ARqE 50 T A 55 § | 96 950® & 7 g5y | 1
Calculate the mode for a frequency distribution for which median and mean are 50 and 55 respectively.

T P 52 I w TS # 9 e 4= v gnr e e &) eue witear =g SR 5 ue

U U EEl 50| 1
One playing card, out of 52, is taken out blindly. Find out its probability that this card will be an

EKKA (ace).

231 (HXH) 12]
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gert 1000 == ET W IeTee T S |

Find out the sum of first 1000 positive whole numbers.

fag &y 13 : 2

3 4 a
tan” A+an A = sec' A—sect A

s

Prove that

YT (R )
e Eﬁﬁﬂ : '1 — 05 A
Prove that : ,“—+ s = osec A —o A

v g & W (4, a) (=a,-a) W (-243, a.3) ¥ Fg AR & @ 0w e B g2
The vertices of a triangle are (2, a), {—a . —a)and {—EI.\,'IE : a+/3y. Prove thatitis an equilateral triangle.
e R e s m neR RE gl g G gmm feer fr iR @ os fev g wm g
T T S e H # 6 e W gEE W 9 ue MEsd o ugean #) W & e ww
e | 2

A ladder is placed against 2 wall such that its foot is at a distance of 2.3 meter from the wall and its top

reaches a window 6 meter above the ground. Find the length of ladder,

wiean mey ffy & Freteiag @il & B8 g S T S

Find out the mean for the table given below using assumed mean method :

|

i A (Class Interval) 10=25 | 25—40 | 40=35 | 55-70 | 70-83| 83100

aTaE (Frequency) 2 3 7 o i i

qrg —- |
(SECTION —*C")

TETE 96 @ 404 90 arsn Pmded B ER HCF Ta #fad s iR g+ LoM 1 5
o | 3
Find the HCF of 96 and 404 by prime factorisation method and then find their LCM also.

i3 e warmr S0 (AP) © 92 7 URl E O 49 & o wert 17 ust o InT 289 & @ g
T n US1 W FOT T afey | 3
I the sum of first 7 terms of an AP, 15 49 and that of 17 terms is 289, find the swm of first o terms.

&1 AT f9H Wi s s @i, faee ot = g 202 8 3

The sum of the squares of two consecutive odd natural numbers is 202, What are the numbers 7

231 (HXH) [ 3] | ET.0O.
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i ) v g S R T 27 81 # e 182 = | 3

Find two numbers whose sum is 27 and product is 182,

FHear (OR)
P Ll S e MY e 3
el BN 0. | B RS DR R R fof —— Wik &7
X" +x—6 %2
. . : It =T =]
What rational expresston should be subtracted from =3 to {ind o 7
o o =

Afe tan20 = col (0 +6%) B T 0 & 77 99 Hifom | (20 T (B+67) S AT I E] 3

If tan 20 = cot {6+ 6°). caleulate the value of 8. | 7§ and (B 4 6%) both are acute angles |

. U e et o (3, 5) T (- 4,-6) 5 ofe e Bl (4, 3) 8 o Bree s ey

oy & Fydeis sna mfe | 3
The coardinates of two vertices of a triangle are (3 . 2y and (- 4, — 6). The coordinate of the centraid

of the triangle are (4, 3). Find out the coordinates of third vertex of the triangle.

=T (OR)

Foriieries R ) HeTTen @ g SRR s wwmr Brpa @ o0 @ 0 g BeE ® AT 9
o wEE o T R E g1

Using coordinate geometry, prove that the mid point of the hypotenuse of a right angled triangle 15 o
equidistance [rom all the three vertices of the triangle.

x @ y i TF W T wierd, T m (k) famgall (7, 1) #iv (3, 5) 2 wEgEeEr @1 3
Find a relation between x and y such that the peint (x v} is equidistant from the points (7, 1yand (3.5}

: m-ﬁ’a‘r‘rﬁmﬁ?qﬂtﬁaﬁm1’&?‘1mfrEﬁﬁwfﬁ'ﬁwqawma*‘rvﬁﬁﬁ'r"réﬁmf-—.cﬁd‘lﬁ

1 e # gemEe 8T E
Prove that only two equal tangents can be drawn on a circle from a point given oulside the circle,

FET (OR)

g Fifm 5 7o o Brom @ Rt o i T w0 @ v ER
Prave that the perpendicular drawn at the end of a radius of a circle is a tangent to the circle.
C

L ACD = 90° T CD L AB R & fig e 6 i?f%ﬁ /\
A — [

BC'  BD D
AC?  AD

Ini figure, given that £ ACB = 90° and CD L AB. Prove that :

231 (HXH) [41]
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Wﬁﬁ%lﬁt‘f@ﬂﬁﬁlﬁﬂﬁﬁﬂﬁﬁrl 3
Metallic spheres of radii 6 em, 8 cm and 10 om respectively, are melted to form a single solid sphere.
Find the radius of resulting sphere.

U — §
(SECTION - D)

26 et o S w A = 5 feen wfy we £ Ofy g @ FeE 5.25 T @ W a e A
Eﬁfﬂraﬁ?ﬁm{ﬁwﬂ'ﬂmaﬁiﬁmﬂ%ﬂ?ﬂma&wwrﬁﬁl b
The speed of a boat in constant water s 3 km/hr. The boat takes one hour more in covering a distance
5.25 km against the stream than coming back along the stream for same distance. What is the speed of

the stream 7

27, ﬁ:ﬂﬁ‘rﬁﬁﬁﬁméﬁﬁmamb@'ﬁin?mmﬂ?qﬁﬁﬁﬁr&ﬁmf{ﬁmﬁ%:
Paqu%ﬂﬁﬁwﬁﬁﬁzﬁmﬂmﬁ:waﬁwzﬁﬁmﬁﬁmh%m‘r%nﬁaﬁaﬁi—ﬂrﬁ
Jab B i

Two points P and O arc in the straight line on the same side of a tower at distances a and b respectively
from the tower, The angles of elevation of the top of the tower from points P and Q are found

complementary. Prove that the height of the tower is Jab.
=T (OR)

PRt drere 4 AT TS USTED B =l @ e E 607 £ yerS F aEm | A & IR
B T @ 307 | A w2 s 50 Aew & o7 werdl B S=E A o Sk |
The angle of elevation of the top of a clift from the base of a tower is 60°, The angle of elevation of the
top of the tower from the base ofthe cliffis 30°. Find out the height of the cliff when the height of the
tower is 50 meter.

28, & Tt TRy H %=§T—R fur £PST = £FRQ |
P

fr= Fifam f5 APQR U wlEE B &) &
. L

In the given ﬂg‘un:—s=i£- and £PST = £PRQ,
Q0 TR 0 R

Prove that APQR is an isosceles triangle.

areqaT (OR)

231 (HXH) [5] [RT.O.



Frz @iforh 5 o1 S Pl @ Sl BT ST S W R & Sy & arf @ awE
B B
Prove that the ratio of the areas of two similar triangles i3 equal to the square of the ratio of their

correspanding sides.

ag 37 i S oz s P 18 S0 areh g deeen A ¥ W 49 5 ¥ T 9 @R
mrwﬁrﬁn-mw%afmsﬂ%ﬁﬂ#fqmﬁﬂ?ﬁﬁéﬁawrﬁmﬁﬂ;uﬁmﬁwéﬂvﬂm
5y o Tw o0 @ B o fniw dand s wifAg ) 6

A cylindrical bucket, 32 cm high and with eadius of base 18 cm, is filled with sand. This bucket is
emptied on the ground and a conical heap of sand is formed. I the height of the conical heap is 24 cm,
find the radius and slant height of the heap.

0. SrefufE aies o AnaE 525 B O SNl w7 A 100 B K $ y F A 9 AT 6
The median of the following data is 525, Find the value of X and ¥, if the total frequency is 100,

aif o o-100 | 100-200 ] 200-300 §300-400 | 400-300 | SO0-600 GO0-T00 | TO0-800 | B00-500 | 001000
Class interval

HIRATEE 2 5 n 12 17 0 ¥ 9
Frequency

|
da

ERTT L

231 (HXH) [ 6]



